PHYSICS MOST IMPORTANT AND EXPECTED QUESTIONS

1. From the following options select the option that represents all biodegradable materials./feFITo &d
Ahedl H T 37 Ahed & I HIfoT o T Sa Aeaor A9g Frael & gaafdr gl

Bubble pack, vegetable peels, stale bread/daer U, Tfeatal & o, T 83

Medicine bottle, old shoe, stale biscuit/gar &I sYdel, RIAT ST, ST forpe

Egg shells, tea leaves, potato peels/37S & [&creh, TRI & Tl 31Te] & el

Glass bottle, milk packets, egg shells, banana peels/sT T didel, g4 & Uhe, 375 & T&eleh, el &
IEXED

Biodegradable materials are substances that can be decomposed by organisms such as bacteria and
fungi. Some examples of biodegradable materials are:

Human excreta

Animal waste

Dead bodies of plants and animals

Food waste

Natural fabrics such as cotton, wool

Paper

Wood
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2. An element A reacts with water to form a solution which turns phenolphthalein solution pink. The
element A is most likely to be:

Tsh ded AT & A UiAThdT lch Teh BIoT &ellal g it fhalordhdfeleT Bler &l a[erel W1 H Seof

ST &1 dcd A9 TS FHTad §:

Ag

Mg

S

C

It is a weak acid which changes from colourless to pink in the presence of alkali.

g Ueh HASIN 3Fel ¢ Sl &TR 1 3UREATT & WigleT & I[ellell W7 & deel ST &
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indicaton Colour in acid Colour at Colour in base
(PH<7) pH=7 (PH>7)
Red cabbage water
Red onion water
Turmeric water yellow yellow
Phenolphthalein colourless colourless
Bromothymol blue yellow
Red litmus
Blue litmus
Universal indicator llow

3. Elements of which of the following groups have the tendency to form acidic oxide? /fA&ifaf@a & &
e wHg & dcdl # 3Fl JiFASS Sl T G gl 82
2
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13
HUGU WA &9 & 3HFT 3HiFass ol § AR f&ega womeAs g &
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4. Movement in most of the animals is a co-ordinated activity of which of the following system/systems?
iR SRt # aifa Arafaf@a # & fFa gome/gunferar fr grfeaa afafafar g2

Only skeletal and nervous systems/dade @eplel 3T df¥er aF

Only muscular system/aaer 92y a5

Muscular, skeletal and nervous systems/aauRf, et 31X df¥er o

Only nervous system/shdel df3eT o
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5. The process of producing an induced current by a changing magnetic field is called: /a&eld Eﬁ?ﬁﬁ SE
EanT URT URT 3cUesT HTeT T GfHAT &1 gl ST &

Electromagnetism/faegd deshca

Electromagnetic induction/faege gaechrar ST

Electromagnetic radiation/faegd deeeha faferor

Electric conduction/fdegd =relet

Electromagnetic Induction: The process of production of electric current by a changing magnetic
medium is called electromagnetic induction.

fegedaeha 9o gRadeRie dachrg Aread @ fdegd URT & 3cules & gishar &1 [degadaha

ROT gl STl Bl

6. Humans have pairs of autosomes.
st siteeE & St B ¥

2

23

22

46

AT A 3EH F 22 SIS B B

AT H Fol 46 IO 81 &, S 23 i 7 & gl &

S & 22 i3 A g € AR T S Ao HIAEH B g
HTerEH, R & IUGF g § 3R foler fefiRor & &g spffrenr €t s,
YFE PIANGIH T FEUNH 3 FgT ST .

AfgeT3il 7 JoFd FHIAMEA XX 3R gesT 7 XY g &.

QST A 22 JTEHEIA 3R TH X AT Y HIAMEIA gl &

7. Metal oxides are generally in nature.?/8I1q 3feFATSS AN T Uhid & gl
8?

Neutral

Sweet

Acidic

Basic

Metal oxides are basic and nonmetal oxides are acidic in nature.

e 3FATSS &N 81 & 3R 37enq 3irTgs 3eld Tehid & 8id gl

8. Alcohols react with sodium leading to the evolution of which of the following gases?/3Tehigel TSI
& Ty gfafkar e Feafaf@a d & forg 9 @1 fae Far g2

No evolution of Gas/st &1 &I o =Tgr

Carbon dioxide/aTee STS3TFATSS

Hydrogen/gTrggiotel

Oxygen/3iTer&sTet
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Ethanol reacts with sodium metal to form sodium ethoxide and hydrogen gas is evolved.

s¥eler AT urg & @y fAfhar weh AfETH vAlFass o § aur gegior 34 Al gl

2CoH; OH(aq) + 2Na(s) — 2C9H5 ONa(aq) + Hs| g
(Ethanol) (Sodium) (Sodium ethoxide)

9. A concave mirror forms a real, inverted and same sized image of an object. Where is the object
placed?

Jfade guuT Rl g & adtae, Soal 3R FAW AR F Gfafdd Solrdr g1 awg Fel @ TS §?
Between f and pole

AtC

At infinity

Between fand C

In a concave mirror, the object should be placed at C (centre of curvature) in order to obtain a real,
inverted image of the same size at C.

3aclel GUUT #, a& 1 C (Iehcl &ha) W @M Sl FIfgT aifehs C O HAH 3R T areciden, 3orcl
ofd uTed 8 Tl

10. What is the unit mass of CaCl2?/CaCl2 FT SHS GeIHT FIT §?

111

115

114

110

The formula unit mass of calcium chloride is CaCl2. Atomic mass of calcium (Ca) = 40 u Atomic mass of
chlorine (Cl) = 35.5 u Hence the formula unit mass of CaCl2 is 111 amu.

HCTTH FARNISS HT FI hls GeTART CaCl2 ¥ HTeHTHA (Ca) T WA GeIAT = 40 u Foilied (Cl)
&1 URAY] GeFAT = 35.5 u HA: CaCl2 T FF 1S GedAW 111 amu g

11 Which of the following essences is extracted using electrolytic reduction?/fe & Hia Tdca ﬁaga

TETA T T ITANRT Fh Tshidid fhar Jrar g2

Pb

Fe

Na

Zn

Highly reactive metals such as sodium (Na), calcium (Ca), magnesium (Mg), and aluminum (Al) are
extracted by electrolytic reduction

TIfSTHA (Na), HTRIA (Ca), HIARTA (Mg), 3R TegaAfermar (Al) Sl 3oa rfAfhandier arqgai S
fega smvucsh ruege fafy @ seia frar srar &

12. Under which of the following phenomenon a solid is converted directly into liquid?/fe=T & ThEe
TeoT & ded U ol HIYT gd & qRafdd giar g?

Fusion/fa@saT

Deposition/faeIasT
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Solidification/ar&TeRIoT

Sublimation/3&aqTdsT

The process of conversion of solid state into liquid state is called melting./d & 3aTAT &I gd HaeAT H
Feolel T UfehdT &l el Fed ol

13. How much percentage of solar energy is absorbed by green plants in terrestrial ecosystem?/ Teirr

adT 7 X 9Y g@anrr ak 37 &1 fohasr ufaerd agor R sirar &2

10

1

5

100

In terrestrial ecosystem, green plants capture about 1% of the sun's energy falling on their leaves and
convert it into food energy.

el aIRfEAfaRT o 7 g1 dier 3roa ol 9 usa arell FA &1 ol & ST 1% Ug0T X & 3N
39 @Wied Foft # qRafdd #X & &

14. Which compound is used to make soda acid fire extinguisher?/fra il &1 T=ART F& AT 35
JTAAHF FAT AT &2

Sodium carbonate/@ 2T FHefac

Sodium bicarbonate/@ 3 Feface

Bleaching powder/fa¥sTeh guT

Calcium chloride/$TeR—IT FARSS

The chemicals used in soda acid fire extinguishers are sodium bicarbonate and sulfuric acid.

TIST 31Fcl HTTAHS H TPl AHI HITSTH FTgehleiae 3R TewrgRe Thls gl

15. The ability of a fully differentiated organism to give rise to new individuals from their body parts is
known as:/Uer quidar faafed Sia T 3rdel R & 37el ¥ AT Siidl 1 Sfed 3ol T &THAT &l 30 &9
& ST Sar

Regeneration

Fragmentation

Fission

Budding

Planaria has the ability to give birth to new organisms from its body parts. This process is called
regeneration. If the body of a planaria is cut in any way or broken into several pieces, each piece turns
into a complete organism. Regeneration can occur from any part of the planaria.

TR F 39eT IR & 390 F AT Slidl Bl STeH el T &THAT Bl &1 S UihdT &l eToiolel el
ST &1 3PR TolaRAT & R AT fohdll oRE & Fre §A1 ST A1 &S gohst H dis f&=r e, ar &
ThsT T T Sffa F g ST 1 Aol SoRRar & R o REd F 8w B

16. Which of the following products is formed when sodium sulphate reacts with barium chloride? J&
AT Tothe, IRTF FaARBE & AT IAHAT War § O F=faf@d F§ F fFg 3carg & AT
gie 82

White precipitate of BaS04 and 2NaCl (aq)BaSO4 3iX 2NaCl (aq) &T ad 3d&a
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Yellow precipitate of BaSO4 and 2NaCl (ag)/ BaSO4 3R 2NaCl (aq) T drer 3/@81q
Black precipitate of BaSO4 and 2NaCl(aq)/BaS0O4 3R 2NaCl(aq) T &Tell @&

Brown precipitate of BaSO4 and 2NaCl(aq)/BaS04 3{R 2NaCl(aq) T 811 3aaiq

When barium chloride reacts with sodium sulphate, it forms a white precipitate of barium sulphate with
sodium chloride. Because the precipitate is an insoluble solid.

S9 IRTF FREE AZTA Tothe & T IfAfhaT Ham g, aF Ig ASTH FaARSS & a1 dRIHT
ethe & Athe, HG&T FAIdT § | Fifeh HaaIT Ueh eelellel 31 gl &

17. The average velocity of a body can be given by the arithmetic mean of the initial velocity and final

velocity for a given period of time, when the body ?/frar s &1 3iaa Jor et Afaa e
& forr grf@e der 3R 3ifad dor & AR AT garT f&ar S ¥t §, 519 [3 ?

Moving with uniform acceleration/Tea#T caI0T & ITTIATT &F

Moving with uniform speed/TehadT aTel & IfAHATT &

Moving with uniform acceleration/3TH#TeT caXoT & Ifa#TA &

Moving with uniform acceleration/T&TdATT do7 & ITAHGT &F

The average velocity of a body can be given by the arithmetic mean of the initial velocity and final
velocity for a given period of time when there is no change in velocity during the entire journey of the
body or the initial velocity increases at a constant rate to reach the final velocity

frelr iz &1 3itaa et fRet AfRaa 3afer & fow gRfAw de1 31k 3ifas a1 & AR AreT garn
femr ST whar 8, 5@ s & U A1 F SN o7 F FIS IGod o g AN IRIFE 97 A AT aF
ggu % T vk R & & wear @

18. Cells of the meristematic tissue are very active, but they lack:/fd®salde Fds &1 AT a5
afsha gidr g, afehat 38 e & el g1dr &

Prominent nuclei/9q@ 1f&s

Thin cellulose walls/acelr '\'EIT*]\T*I’IGT ga

Vacuoles/T@enfaar

Dense cytoplasm/T@gs HIADT g

Cells of meristematic tissue lack vacuoles:

Cells of meristematic tissue have dense cytoplasm and thin cellulose walls.
These cells need dense cytoplasm and thin cell walls to do these functions.
Because of this, meristematic cells lack vacuoles

ATIds Fde Hr RIS F RiFaer Ty T Hr FA7 giar g

Rivrsaie S B PRIFH # Y ARIEGeT A Tl Fegeisr Qart g &

SoT FIRAPIAT FI 3T FHAT F AT a7 FIfAdIgeT 3R gder Fiferr AT Fr FRT ger &.
SH aoig 4, Resaas SRt & RiFder & 3p7ma gar §

19. A solution contains 25g of copper chloride salt in 250g of water. Calculate the molarity in terms of

mass percentage of the solution./Te& fae@e & 250g Ulell H 25g FIR FARSS 90T g1 Aot &

acgATT 9faerd & ded # faeed &1 aReed Hifw|
18.01%
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9.09%
27.01%
36.01%

fqerT T gegdAT = 25 gram
Ao &I gegdAT = 250 gram + 25 gram = 275 gram

S % = ([90d &1 SadH/f[AaaT &1 %09 ) x 100

=25x100/275=9.09 %

20. Which instrument can be used to give the direction of magnetic field lines at any given point? /f&r
o f§ig R eshrar &1 T3t &1 e qare & v fRd 3T &1 3UheT fhar S Fevd 82

Electric motor/fdegd Aex

Generator/aieitel

Solenoid/drelAAss

Magnetic compass/daehiT HEarT

A small magnetic neZdIe is used to determine the direction and strength of the magnetic field. Magnetic

force lines do not cross each other. If the magnetic field strength is greater than the magnetic lines then
the force will be greater.

Jaehrg &1 &1 fGem 3R drerd AU #a & AT v o1 dehg g8 & 39T fRar S g
YIhIT ol YWIT Ueh AR &l 61 died §| Iie Yaehla &7 &l dlehd Jeehid @3t & 31fee § ar
ol 3T gram|

21. In the circuit given below, what is the current flowing in 6Q resistances?

A fow v gRuy 7 60 gfadet & varfed arT F2ar 872
2802 662

W

s
203

1

10V A

(a) 0.22
(b) 0.55 A
(c)2.22 A
(d) 2.775 A
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20 A 6Q

2Q 2Q

N

By applying Nodal Analysis on node A,

V-10 V V
+—+—=0

2 2 8
4V-40+4V+V =0
40
V=—
9

22. Stratified squamous epithelium is present in :/Eehe TraAd TidfoH # AlgE
g
(a) Kidney /forg=T
(b) Respiratory system /2adeT YUTTeir
(c) Esophagus /Tarthara
(d) Skin/ca=r
Stratified squamous epithelial cells are found in a number of organs, including the skin epidermis and
the thymus.
Stratified squamous epithelium is found in — buccal cavity or oral cavity of mammals, the inner lining of
cheeks, lips, hard palate, tonsils, pharynx, oesophagus, anal canal, the lining of the vagina, cornea of the
eye.
TS FFIAH Iehell HIABTT caal & UsTAT 3R argay Afgd 8 371 7 a1$ e 81
TRl FrdAH TAATAIH YIAT STl § - EALTRAT T 7 I AT H ek TG, IMTeil hY 3 Reh W, 810,
FOR dTe], SHerel, e, 3e=T0TTeN, [T 16X, Alfey T I, 377 T Hifera|

23. An ideal gas at a temperature of 27°C is heated at a constant pressure until the volume of this gas
doubles. The final temperature of the gas will be:

27°C & ATIHTA U Teh 37GLT 3 ol FEUR GaTd T A deh I ohdT SATAT & ST oo foh 39 31
T 3T S3LAT o & STV | 3 1 3T fAH ATIAT g

(a) 54°C

(b) 327°C
(c) 108°C
(d) 654°C

Ans. (b): T, =27"C=273+27=300"K
T,=?
V,=Vand V,=2V

VvV, V,
At fixed pressure, Vo T | l—‘ = 'I'_
1 2
vV, . 2V
T,=—xT, =—x300=600K
TV, \'%
T>=600-273 =327"C
T, =327°C
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24. Upon rapid heating of lead nitrate crystals in a dry test tube,

T FUI WA 7 o5 Agee fhecd & doll & 7 e W

(a) A yellow coloured residue is left. /Ter Yrel 39T T HAAY &7 &

(b) A brown residue is left. /T 8T (@AY F=T |

(c) White smoke comes out of the tube. /cgg & &the Y31 feshoraT &
(d) Crystals melt immediately. /fheeer X e Sira g1

In a dry test tube, when the crystals of lead nitrate are heated, leaving a brown residue.

Teh HET W H, ST oI5 AT5¢T & fohecel ol a1 T SATAT &, Tt 91X 137 7 3G folehel
ST g

25. Constantan, Metals are made by mixing ?/$Ulo-Fé Co, %n?orﬁa?r IERIETY
AT SATAT &7

(a) Cu, Ni

(b) Cu, Ni, Mn

(c) Ni, Ti, Fe, Cr
(d) Ni, Cr, Mn, Fe

Constantan - Cu + N1 (55% + 45%)
Brass - Cu+Zn (70% + 30%)
Bronze - Cu+ Sn (88% + 12%)
Rolled gold - Cu+ Al (90% + 10%)
Steel - Fe+C
Nichrome - Ni+ Fe+ Cr
S et | Resiuviy@m)
Conductors Silver 1.60 x 108
Copper 1.62 x 108
Aluminium 2.63 x 10°®
Tungsten 5.20 X 108
Nickel 6.84 x 10°®
Iron 10.0 X 1078
Chromium 12.9 x 1078
Mercury 94.0 X 108
Manganese 1.84 x 10°°
Alloys Constantan 49 X 106
(alloy of Cu and Ni)
Manganin 44 x 10°
(alloy of Cu, Mn and Ni)
Nichrome 100 x 10
(alloy of Ni, Cr, Mn and Fe)
Insulators Glass 101 - 10
Hard rubber 10 - 10
Ebonite 105 - 107
Diamond 102- 10"
Paper (dry) 102
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